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MEAL wutet P & (e i B R =1k dm




' S zg7 FLJAET

% 186
e T
ch;“?tﬁ?dﬁ,zifquﬂﬁ'rhj/d/;’zK‘-ﬂﬁ.{’u’(ﬁ' : \/E, \/3_,\/3,\/-79]@
‘9‘3“9?"{:&'- ?c,:l/brc.)lﬁl(:é’dl}’
V2,4i1,3 Je- )UF'(;-‘? -2
w JIKQJL :lxlul’t//ﬂQJZ.JlxlubtJ//»
37 Yot P12 T 3o LT P g ! e b Kt B
-%J“/ﬂ/'ﬁ'hg P J"t /! E ‘-'c"_ Ay l;rc. (‘l{)l'n'ﬂdluig:db’
H . dg. : If"{:l‘a’»dlujg:.__,lﬁ
| (otelencp I AT
- L
fﬂﬂtf-lmddéz-f/ﬁfé—("/”&'-(‘la a’ ‘ fl’.f:lpth-,m J= (l):dl?
-{_-Zlfr v g c‘:..../ﬂsd(ug v .../ds.'éui f"-‘-' ? L""J‘?’?” Ya= 4% (ii)
fq_:l/y::-_('l_nc-,,w:dlr ! % a:ﬂff -3 (";:Go(f Nos g = arlr (i)
i . :("{)l;‘.f"':v’ﬁ . L‘Jf';KJA.?
O e fig sz G L P oo ) LI L LI V)
. . 'f' (')(Q/(_a—))n =a P : n
' : ((@")' =a
B35, B (ii)%/ab=1a 5 ()(aby = gobr
" - ii)(ab)" = a"b"
etV (el Giynl® V" L
i - = 5 n
‘/UJIS'J’UB § b o ’ ("ii)(%) = 21-
O un B3 oz Pt AL P (‘i/)ﬁ-&' )(¥a)" =¥ 1y i -
e : (iv)(aa} =(a~); =qn

! - 8
2 o
2 : -
: % 4,
k.'.:n.. i M



189 LRz

| oY Pzl
b i in i Pt i PP pn itz
Y2 AYY S0 3
BB

A

Sk tc—lfg.:..,.f;.:Z}lrJ"thb’ﬁPJ(

bl
3
1307
ekt F(1)

A1 2 1

(')‘? - ('i):/—g"ﬁ

1 \5 14 14

"5 R

5 14 6

s V6 V6
—7MJE=(7JE]AM
6 (3 )

..~ VO

(m)—;—

J-ﬁ-xﬁ 42

[ﬁxﬁ:ﬂ

v‘-—_7

ST
W
2,395,363 Je

J“)L:I&Jf‘lpli'ﬁ
-‘G—GC?JQ/.";"O?'J("!’E?P/
B+B=6+53="5 Je
125+45 -85 =(12+4-6)5="95"

fg"&*/}&"’!’l"
e Febra Pl LISl eSS
L Lnma s e P
(i) xfm = Jnm

=g =
("')"/—’—,— ™

t iy L?w

Ut (‘l/li’ (}J»h"‘l;lﬁ* f:..g ﬂl(’ LUz L?J” L:"..{'

a+bJx Jx [y : >
S st Ye e L6 by
111 66 Sasr 12
fe LI LR o Stz s
-< t‘llp(c/_( ({178 /uu_f'
a+bJxa-bJx
Vx+y midx-Jy
..u_:z.M}ﬁz;v&‘téz_/»_{ldiﬁ&»z.:.i



191

Q)

(1)

(iii)

()

L AET
S el S5t (3)

1 ?
J3 33 |
1 3-2
=J§+2x~/§—2
HB=2 _J§—2=\/§-2 :
=(J§)2-(2)2 T Bl -1 |
=2-43 T

1 1 4++/5 L)
4—J5 4—45 4+d5 &
4+J5 445 _
T @ -5’ 16-5
_a+45 ¢
1
43
J7+5
_43(J7-5)
M -(5)?

_4BT-5) | “§

7-5 A
_2ABWT-5 |
- Z

1

190 SLJR2ST
-QIWURJE@J(Z)

M  J2+8 @) 4J50+4200+V50

—2+2° =4J25%x2 +25x4x2 +J25x2

=J24+3J2 =4x$\6+5x2ﬁ+5\[2_

=V2(1+3) =202 +10v2 + 52

=42 =v2(20+10+5)

(&)

“4)

&)

(6)

=35J2
W12-v2)(v20-342)

=(\ﬁ2x20—3J12x2)-J2x20—42>_tZ
=240 -324 -3J40+3J3
=F15%16 —3J4%6 —3Ja4x10 + 3x2

=415-3x 26 -3%x210 +6

=415-6J6-6/10+6
(6+2)(5-5)
=6x5—6\{§+SJ§—J§x5
=30-6v/5+5V2 -0
(S3-2)(5-5)

=53 -3x5-10+2'5
=5-V15-10+25
(7+3)(5++/2)
=Tx5+7J2 +53 + 2x3
=35+7J2+5V3+J6




il
22______——_——-___

~ (J§+J5f
"W -y
_3r2e232
3-2
=5+2JE
) 29
R TIEN
29 xll-SJg
“TNe3d 1135
29(11-34/5)
" 3E)(A1-345)
_29011-3V5)
T -6V
29(11-3V5)
T 121-45
_29(11-3V5)
T 176
17

¢ 2B
17 Wi-288
=3J‘7+2\5x3\ﬁ"2*l§
17347 -243)
T -3
116V -243)
T AN-40)
_1713V1-23)

63-12

! 192 G2 2T

WP -2vxy
=y

_x+y-2\/x_y
e

o
2437
__ ST 2-3/7
T2+437 2-347
_ 51(2-337)
T @2+3)(2-37)
_10¥7-15x7
-6V
_10J7-105
"~ 4-63
_10J7-105
T 59
_+105+1047
- +59

105+10v7 e
TRl R N

B+2

V3-V2

_B3+V2 B+
B-2"3+2

_(B+V2)(3+2)
V3-V2) B +2)

(vi)




SR o T

ST

LM

®)

=12 +—l§-=20"2
X

()25 =(ii)8
x= 2+J;
(t‘)x—l=‘?
X
(i) x* +%+?
1
25 1o

2-

Ji

+

==
(¥*)

HI—- HI-—

w
(98]

W
_2-3-2-8

w

.&.w
wNN

-'x—2+J§

=-l-=2-J§=x—-l-=2J§
X x

= (-2 =237
4

=12—%+2=(4x3)

il

_M3V1-24B)
My

_3W3-243
3

Lo
I
)
+
N

5l
[ %]

]
x -

&
N

|
o

I
& &

E R . B L B
L")
+
N

=x+l = 2J§

S

=’=(x+—:r-)z =(25)
=(2J5)% =4x5

' 1
=X+ +2=20
z



==
J_+3+a -3 JEIZ! f -3

Wa+i-Ja-3)

ot ?? —:}(a 3)?

=(Ja+3)2+\/(a-3) ~2(a+3)a-3)

a+F+a-3F ;

_ a+}’+-j-2‘/a_2_-§
2a
=2a-2Ja_2_———9

2a
_ Za-Va* -9

Hoye st

_a-Va*-9

b+Vb? -a? g
bbb

P e -2

a

TR,

b+Jb2 b+J;T—__

2% - a? + 20\b? - g2

2 Ans.

S
§
b
EL
S
=
i
e
e

(i)

I—lz-—zJi

X
=(Jr-£)2 =(-242)?
=I+;li-—2=8

=2 +—5=s+2=1o
=242 10

Ja+3—Ja*3
Ja+3+l-3

LA O



199 i 198 Sz
(@ sLf ®) e ,
© ,:-,;L. o) [:‘au; -é.(lu/l»/ré__«lifé‘-l
9. PusVT = aNg sk # QUOPX)S 27 QUL M AN P ST D]
(@) 0 ® 1 | et unud
)2 (d)% . @ v (b v
10.——unn/i lc,-JClgd:?)f(‘ Dz © s (A Faps?
@  Jeauf ®) Eomss 2.(a+b)? — (a-b)* =2 _
©  Juzss® @ ¢n oo (2) 2(a+b)? {(b) 4ab
LS Ll 11 (c) -4ab (d) a*+b?
c‘-ﬂkfﬁtp,qe Zrig# 0L uk P Jp JqLi 3 (at+b)Ha-b)’=?
U, ZQE0, POOAQE) 2022 Jry b 2D (a) -4ab (b) a*+b?
ewur | () 4ab 4D 2a+bY)
3. (a+b)’<(a-b)® = 4ab — ; 4(a-bXa +abtb?=?
4. (a+b)Ha-by = 2 \ (a) (@b’ (®) (atb)®
5. a’+3abla+b)+b’ = Gy ! (©) a*-b’ (d) a’+b’
6. 2*-3abla-b)-b* = @by | 5. (a+bXa-ab+bH=?
7. (a-bXa’+ab+b?) = b (@) a’-b’ (b) (at+b)®
7. (atbXa*ab+b?) = POTE ©) (a-b)? (d) a*+b*
*T-“‘f&f'_” N PR 6. a’-3abla+b)+b’=?
O 158202 Ja=at10 (@) (atb)? ® (a-b)?
= . () a’+b’, (@) a*-v’
7. a’-3abla-b)-b’=?
(a) a*+b’ (b) (atb)’
(c) a>-b’ @ (a-b)’

s <

8. cttne bl at S L



